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Solve each problem.
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Solve each problem.
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A, 0+2-= 2+2= U4 2= 2+3= 2+ | =

B. 64+ 2= 2+8= 542= 2+7 = 9+2=
C. 2+5= 2+6= Q+2= 2+0= | +2 =
D. 2+ 4= 2+2= 3+2= 8+2= 2+7=
E. 2+42= 24+9= 2+3= U4+2= 7+2=
F. 54 2= 2+0-= 8+2= 2+ 1 = b+2=
G U42-= 2+ 7= 2+3= | +2 = Q+2-=
H. 2+2= 2+5= 8+2= 2+6= 0+2=
I. 2+6= Q+2= 3+2= 2+ 1 = 5+2=

J. 0+2-= U+2-= 2+8= 2+ 2= 7+2=
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Solve each problem. Circle each problem and answer in the puzzle.
Problems can be hidden across or down. The first one has been done
for you.

A,
B.

5+ |
3+ |

6

| +2 =
6+3=

2+ 3=
H+2=

OO O F o w o o O —
— O 0

0
~N 0o W o1 O O W N 0 0 W W

O 0 F N OO NN

H+3=
7+2=

O o o o0 O o0 =N F OFE

F N FE N O N 0 O NN oo

5+3=
5+2=




Solve each problem. Then, use the color key to color the piciure.

( Color Key
L 5 =red 6 = brown 7 = yellow
4
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Solve each problem.




Solve each problem. Help the duckling find his family.

1.2

CH C.
U+7= U+ly= 2+4=
&7
-
J, G.
7+U= H+3=
K.
H+8=
L.
o+ H-=
M. P.
3+U4= H+7=
\

D.
6+U=

F
5+U=

Q.
O+U=




+ | + U4 +




F, 5
+9
K. 5
+2
P, y)
+5
U,

-+
01~

G. 5
+95

L. 0

+9

Q. |
+9

V. 5

+8

+
(&) IR =

+
1 O

+
g,

+
(6 ) [ =

|

+9
N, 5
+_q
8. 8
+9
X, 5
+7

J. 5
+0

0. 7
+95

T. 6

+9

Y, |

+95




Solve each problem. Then, color the picture.




Solve each problem.




5+5

H+5

5+9=

2+5=

5+7 =
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Solve each problem. Then, color the picture.

-
c. | D 6
+ 6 +8
F.. 3
+6 /0-(\5
I. 5
LS +4
G. 6 -
+6
K. 6
Jo 9 +4
+6
@) (e N.
L'+2 M 6+6=
T 6+0=
O ) R' 2 S. 7
: +
0. 6 6+ 6= _ +6
+/
P. "
54+ 6= =<
U, 3
T. Z + 6 V.
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A. 5 3 0 6 6 4
+0 +95 +4 +5 +4 +9

B 8 4 9 5 5 |
+6 +6 +5 +9 +2 *9

C. 5 5 5 3 4 9
+4 +6 +8 +H +5 +6

D. 0 6 6 | 0 6
+5 +9 +7 +5 +6 +8

E 4 6 6 5 6 6
+1 +5 +2 +2 +95 +6

F 4 8 | 6 5 5

+/ +6 +4 +H +H +0

G. 8 6 5 4 5 4
+H +4 +6 +0 +5 +5

H. 3 5 6 0 9 .
+6 +4 +3 +5 +5 +H

L 0 8 4 5 4 |

+6 +9 +5 +3 +6 +4

J. 9 6 6 l 2 5

+ 4 + | +5 +U4 +5 +9




Solve each problem. Circle each problem and answer in ’rhe‘puzzle.
Problems can be hidden across or down. The first one has been done
for you.

A, 2+U4=6 5+lU= O+6= 4 4+U= | +6=
B. 8+U-= | + U= 2+6= | +56= 3+6=
SO oe

| 6 10 2 6 2

5 8 8 3 3 0 4 9 3

T 7 6 U4 6 10

4y o121 7 9 6 5 2 5

4 6 2 2 3 6 9 6 8

7 3 6 104 2 1 5 8 3

3 6 6 8 5 9 7 3

N 3 1 6 7 2 2 6 1 1i u

08 8 6 3 | 5 1 |l 8 U

& 2 5 6 4 9 4 8

7 5 3 2 9 5 0 12 Il

u 7 2 4 2 | 9 I

[ )

l )

D,




Name: Date:

Solve each problem. Then, use the color key to color the picture.

( Color Key )
L 7 = gray 8 = brown 9 = green y
A 3 B. D. 5 )
+6 +5 +h
G. 4
E. 5 +4 -
s (A PSRN

+
o w

|

i




B. 0 6 ' 9 3 7
+5 +4 +7 +6 +4 +6

C. 5 4 | 9 Y 5
+4 +8 +6 +H +4 +6

D. 2 5 '-l 5 0 3
+6 +0 +3 +2 +5 +4

E. 9 6 6 Y Y 6
+5 +6 +3 4 +8 +2

F 1l L 5 5 U 7
+ 1 +7 +5 +3 +2 4

G. | 4 0 6 5 5
+5 +3 +5 4 +6 +5

H, 5 6 2 | 2 6
+3 +1 +5 +6 +4 +6

L 0 6 5 | 1 3
+6 +5 +9 +9 +4 +6

J 2 6 5 4 3 6
+4 + | +5 +3 +5 + 4




Solve each problem. Draw a line from each egg to the nest with the

mafching answer,
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Solve each problem.
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Solve each problem. Help the monkey find the bananas.

B, 7 C. 3 D. 7 5
+2 +7 +8 +7
7
+9
J. 7 . U H 6 7
+5 +7 +1 +7 +7 +7
. M, 7
+4
N. 6 O 0 P 2 Q. 7 R. © 7
+7 +7 +7 +1 +7 +3
g
A’ .8
N2 .
§"’
—>
S S
= X. 4 W 3 V. 7 |
== - +7 +7 + 7 + 7
— — —
.
<]




A 0 7 7 3 | 7
+7 +2 +h +7 +7 +6

B. 7 5 2 9 7 7
+8 +7 7 7 +9 +7

C 9 7 | 7 2 3
+7 +0 +7 +4 +/ +7

D. 7 7 6 5 7 1|
+8 +7 +7 +7 +0 +7

E. | 7 0 8 7 6
+7 +9 +7 +7 1 +7

F 1 2 7 7 9 7
+/ 7 +3 /7 +7 +h

G. 7 8 6 7 7 9
+6 +/ +7 +0 +7 +7

H 3 7 5 2 7 8
+7 1 +7 7 +4 +7

I 0 7 6 7 | 7
+7 +2 +7 +8 +/ +9

J 2 7 3 7 7 8
+7 + 4 + 7 +5 +7 +7
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F. |
+8
K. 8
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Solve each problem. Then, color the picture.




Date:

Solve each problem.

Name:
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A, 8+ 6= 2+8= 0+8= 8 +U= | +8 =
B. 8+3= 8+5= Q4+ 8= 8+7= 8+8=
C. 3+8= U+8= 8+2= 8+ 6= Q+8=
D. 8+5= 8+8= 0+8= 8+9= 7+8-=
E. 8+2= 5+8= 8+8= 3+8= 8+ 1=
F. 8+7= 8+6= 8+0= 8+U-= 6+8=
G. 8+ 1= Q+8= 8+5= 8+8= 8+0=
H. 8+2= 6+8= 8+ | = 7+8= 8+U=
L. @+8= 8+0= 5+8= 8+7= U+8=

J. 6+8= | +8= 8+3= 0+8=  8+2=
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Solve each problem. Help the mail carrier find the mailloox.
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20,_ o — I — O M~ O e N 69‘ “30,_ O,OA "50,_ w O
+ + m + + ] + + ! + + m + +
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1 ] ] ]
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B. 7 Y 9 7 8 8
+6 +7 +5 +2 +9 +6

C. 0 7 3 8 4 9
+9 +95 +7 +5 +/ +2

D. 8 9 7 8 9 7
+7 +6 +7 +3 +9 +0

E. 7 7 8 | 9 9
+9 +95 +0 +9 +8 4

F. 2 8 7 6 8 5
+9 +95 +4 +9 +8 +9

G. 8 9 2 9 8 8
+H +3 +7 +2 +8 +6

H. 7 0 7 3 9 6
+9 +8 +9 +7 +H +9

L 8 0 2 8 7 2
+2 +9 +9 +1 +0 +9

J. 5 8 8 4 8 |
+8 + 9 + 7 + 7 +3 + 7

|
|
|
|
|
|




Solve each problem. Circle each problem and answer in the puzzle,
Problems can be hidden across or down. The first one has been done
for you.,

A 6+9=15 8+9= 7+8= 5+8= 2+8=
B. U+9= 9+7= | +9 = 5+9= 6+8=

5
. ,
— 4 1 9 7 16 15 15 u I3 |
O 3 2 8 3 3 6 9 5 9
8 | 3 2 8 10 10
— 4y 5 8 4 9 5 5 {8 7 5=
5 | 7 4 4 0 2 9 |y
& 8 4 0O 5 5 7 15 8 8
S 4L 8 3 Il M 9 Y _—
15 5 13 8 0 8 17
6 5 8 17 _6 9




Solve each problem. Then, use the color key to color the picture.

( Color Key )
L 10 = blue I2 = green 15 = red 16 = yellow y
~ )
D. 3
A. 8 B. ¢ C. 7 +7 Eo
+8 +7 +9 +0
G. 9 K. 8
+7 H. 3 I. 8 +8
+7 +8 J. 9 —
k.8 _ - + |
+2 —“
M. 7 N. 8
2 +8
L. 5 Q. 7
+7 +9
1. 7 U. 8
R. 6 / +8 +8 V.9
S, 7 — +7
+9 —
S
Y, 7 Z. 6
+8 +9
W. 3 X 5
+9 +7
\




A, 9 3 0 8 7 6
+7 +8 +7 +7 +8 +8

B. 2 6 7 | Y 2
+7 +9 +7 +9 +9 +8

C. 5 9 6 9 X 5
+7 +9 +7 +8 r7 +9

D. 8 0 L} 7 0 3
+8 +8 +9 +8 7 +9

E. 9 8 6 1] 3 6
+8 +7 +9 +8 +8 +7

F. 7 3 2 8 1] 7
+7 +8 +9 +7 +8 +9

G. 5 u 0 0 6 7
+7 +9 +7 +8 +9 +7

H. 8 7 5 8 1l 1
+9 +9 +8 +7 +8 +7

L. 8 0 9 2 7 9
+7 +9 +7 +7 +7 +8

J. 8 6 8 1 3 |
+8 +7 +9 +7 + 9 + 8




Solve each problem. Circle the largest sum to ﬂnd which car wins
the race.

= 0+9= 7+8= O+6= 8+3=

B.
b+l= 3+6= | +8 = 5+7= 2+ 2=

¥
= 5+5b= ?+4= |+ 1= Q+5=

D.
8+U= 6+5= 2+3= 7+3= 2+5=

&,
= Q+3= 8+ 7= | +6 = 6+7=

U4+Q= 3+6= 8+6= Q4+7 =




5 L L 4
+ | +3 + @ + Y4 +6 +5

|
|
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J. 4 9 2 4 4
5 +6 3
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Solve each problem.




B. 6-2= 8-2= 5-2= 10-2 = 9-2=

C. 5-2-= i0-2= 9-2= -2 = 6-2

D. H-2= 2-2= 3-2= 8-2= 7-2=

E. 2-2= Q-2

3—2: LI-—2= 7—2=

H. 2-2= 5-2= 8-2= Q-2= -2

L. H-2= InN-2= 3-2= 6-2-= 10-2=




=3
K. 5
=3
P, y
=3
u. 6
-3

G. 9
-3

L. 4

=3

Q. 12
=3

V. 5
-3

H. 7
=3
M. 8
=3
R 9
=3
W, 10
-3

L 3
=3
N. 3
=3
S. 8
=3
X. 6
-3







Solve each problem. Then, color the picture.
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\Name: Date:

A, 6 10 Q H I
-3 -3 -3 -3 -3
B. 3 5 12 7 8
-3 -3 -3 -3 -3
C. 3] L 6 1 12
-3 -3 -3 -3 -3
D. 9 3 8 10 7
-3 -3 -3 -3 -3
E. 6 5 12 10 8
-3 -3 -3 -3 -3
F. 7 U Q U I
-3 -3 -3 -3 -3
G. |10 Q & 12 I
-3 -3 -3 -3 -3
H. 6 8 3 7 L
-3 -3 -3 -3 -3
. @ 8 5 12 U
-3 -3 -3 -3 -3
J 3 10 7 11 6
-3 -3 -3 -3 -3




B. 6 [ 5 9 8 6
- -3 -3 -1 -3 -2

C. I 5
=3

5 4 5
-2 | -3

|
|

D. 8 |
I

-—_ N

9 9 6
3

|
]
|

|
|
|
|
|
|

I
w
I

|
|
|
|
|
|

G. 9
-2

|
I

|
|
|
|
|
|

L.

~2 - — | -2 -3 = |

|
|
|
|
|
|

|
N

I

|
o
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N

!




Solve each problem. Circle each problem and answer in the puzzle,
Problems can be hidden across or down. The first one has been done
for you.

A, 4-3=1 3-2= 5-3= 7-2
B. 8-3= 6-3= H-2= 5-1

3-3
8- 1|

4 0 H

6 8 H 9

7 9 7 9 3

3 &5 9 I 4 3

3 I 5 3 9 2

o 3 6 2 8 0 H
4 0 & I 7 9 5
7 9 4 2 2 0
o 7 2 5 8 8 7
4 8 3 10 | 9 H
5 0 8 10

2 6 3




blue

6 =

gray

Color Key
1]

yellow

2=

Solve each problem. Then, use the color key to color the picture.




B Q 6 7 Q@ 4 fl
-1 -3 -2 -3 -3 -2
C. 5 8 6 Q@ L 5
-1 -3 -1 -2 -1 -3
D. 2 10 4 7 8 [
-2 -2 -3 -2 1 -3
E. @ 8 6 L 8 o)
-2 -1 -3 -2 -2 -1
F. 10 / Q 2 L 7
-1 -2 -3 -1 -2 -3
G. 5 |12 |0 I 6 7/
-1 -3 -1 -2 -3 -1
H. 8 o) 2 8 Y
-3 -3 -2 -1 -2 -1
I. IO 3 Q 5 3 2
-1 -2 | -1 -1 -1
J. 2 6 8 'l 7 4
-2 - | -3 -2 -3 -3




F. |10

L. 13
—y

H. I
-4
M. o)
-4
R. 4
-4
W, |l
-4

X. 10

10







Name:

Date:




13 4
-4 —y

13
—4

D. 8 7 10
~4 -4 -y

E. 12 6 7
—y —y —4

G. 13 7
-4 -4

H. 6 H I
= -4 =t

I. 4 7 13
-4 =L =

10 5
-4 -4

Y 1
-y —y

18
—y

I 13

1 12
—4 -4
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Solve each problem. Then, color the picture.

Al







B. 6-5= 8-5= I4-5= 7-5= Il -5=

C, 13-5= 6-95= 9-5= 10-56 = 5-5=

D. 7-56= I4-5= Il -5= 8-5= 12-5=

E. 12-5

10-5= 5-5-= 7-5=

1
~0
I
&)
]

I
w
|
on
I
o
|
o
I
=
!
o
I
o
!
o
I

F. tH -5

®
I
1
&)
I
~J
|
on
I
Ne)
|
on
I

I,

o~
|
&)
I
[
o
I
w
|
on
I
-
I
on
I
o
[
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J. 8-56= I4-5= 9-5= 12-5= /-5=




oI5
=6
K. 6
=6
P12
=6
u. 13
-6

Q.

V.

[

12

H. 8
-6
M. 7
=6
R. 10
-6
W. 8
-6

T,

Y.

15
-6










I




-5 -5 -4 -6 -6 -4
B. 6 4 12 9 8 6
-5 -y -5 -5 -6 -4
C. 9 / 12 K] / 15
-5 -5 -5 -6 -5 -6
D. 8 13 4 9 10 6
-5 =t -5 -6 -5 -5
E. 7 5 10 6 | 6
-6 -5 -6 -4 = -5
F.oo12 10 4 6 7 8
-6 -5 -5 -6 -4 -6
G. I 6 4 |0 ? 6
-4 -4 -5 -5 -5 -y
H 6 10 5 15 7 8
-5 = -4 -6 -6 =t
. 6 13 {4 [ 8 5
-5 -4 -5 = -4 -4
J. 4 13 8 7 9 10
-5 -5 ~6 —y -5 —6




Solve each problem. Circle each problem and answer in the puzzie.
Problems can be hidden across or down. The first one has been done

for you.
A 6-U=2  12-6= 7= 12-5=
B. 13-5= 13-6= 86 = 10-5 =
C. 10-6= -4 = 95 = 81 =
(”—f 3 2 1 1 5 3 | *‘"‘\
2 6 9 13 13 | 7 4 2
§ 0 7 0 2 2 7 1l 8 6
o 2 8 3 12 12 5 7 2 13 5
(/ 7 0 5 12 2 2 38 0 7 Y
0 6 4 0 3 3 2 8 0 I3
Of{fia 5 8 4 7 7 7 7 9
> 3 12 7 9 8 4 12 5 |
5 12 11 0 7 4 1 8 I 4 9
2 3 4 4 3 4 3 10 5 5 8
15 5 2 2 8 0 6 |l _
412 12 12 6 6 I Ay
_ .
CERNES
O°Clo
Ceo \\Q’ o2,




Solve each problem. Then, use the color key to color the picture.

( Color Key
. | = green 2 =red 3 = blue 4 = yellow
(A, B, C.
9-6= 8§-5= 8—-95=
F.
7-U4=
K.
7-U=
N.
6-5=
M.
L. _ P.
7-4U= 6-5= O, 9-6=
\ 7-6=
o R S, N
6L = 5-4= 6-5= —0o=
V. W.
U. 7-5= 8-6=
8§-5=
X. Z
81 = 9-5=




E. 9 6 13 7 8 I

7
-4 -y -4 -6 —y —y

~6 ~6 -5 -6 -y =6

I. 12 6 9 | 13 13




Solve each problem. Draw a line from each apple fo the bug with the

matching answer,
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10 6 10 |4

9 13 Y 5
5 -6 1
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B. 14
=7
G. 8
=7
L 15
=/
Q. 4
=7
V. 16
-7

15

9
/

~J Co

D. 16
=7
L 7
=7
N. 13
=7
S. I
=7
X. 15
-7

~I 0

8
/

12

7
/

13







J, . H. G. 3
-7 Yy_7= 16—7 = 9_7-= 8-7 =

K. L. M. N. O.
8-7= 5-7= W—7 = 16-7 = 10— 7

\\~ P,
12-7

(1: T, S, R, Q.
1 -7 8-7= 13-7 = 9_7= -7




-7 -7 -7 -7 -7
B. 16 7 13 |2 Q
-7 -7 -7 -7 -7
C. 15 16 Q 10 [
-7 -7 -7 -7 ~7
D. 14 |2 (3 8 7
-7 -7 -7 -7 -7
E. 10 [ 13 |4 @
-7 -7 -7 -7 -7
F. 15 |2 8 7/ 16
-7 -7 -7 -7 -7
G. 4 12 13 | Q
-7 -7 -7 -7 -7
H. 8 15 7 16 |0
-7 -7 -7 -7 -7
I. 12 Q 8 [ 15
-7 -7 -7 -7 -7
J. 10 4 13 7 16
-7 -7 ~7 ~7 ~7




K. 15

P 12

L. 4

V. 15

H.

17

13

I 12
-8
N. 8
-8
S, 10
-8
X, 16
-8

0.

16
—8

10




Solve each problem. Then, color the picture,

N




Solve each problem.

\l‘

NANEE \!4 ey
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B. 13-8 = 15-8 = ?-8= 17-8= 8§-8=

C. 13~8= 4 -8 = 12-8 = 16—-8 = 11 -8=

D. 15-8= 8-8= I0-8 = 9-8= 17-8 =

E. 12-8 = 15-8 = 8-8= 16— 8 = 138

F. |17 -8 = I4-8= [0-8= 8-8= I1-8=

G, 13-8 = ?-8= 15-8 = 8-8= 10-8

H. 12-8= 16 -8 = 1 -8= 17 -8 = I4-8=

L. 9-8= 8-8= 15~-8 = 12-8 Y-8 =

J. 16-8= I} -8 = 13—-8 = I0-8 = 17 -8 =




F. 4

K. 15

P. 12

u. 18
-9

16

I3

16

13
-9

R.

15
-9

S.

10
-9

O,

10

|7
-9

16




Solve each problem. Help the bug find the food




Solve each problem. Then, color the picture.




-9 -9 ) -9 -9
B. 16 18 4 |7 f
-9 -9 -9 -9 -9
C. 13 16 Q 10 [
-9 -9 -9 -9 -9
D. |2 [t 15 18 |7
-9 -9 -9 -9 -9
E. 12 [ |10 Q |7
-9 -9 -9 -9 -9
F. 15 13 |18 4 16
-9 -9 -9 -9 -9
G. 12 |7 (0 Q 13
-9 -9 -9 -9 -9
H. 4 15 |6 18 |
-9 -9 -9 -9 -9
I. 16 {8 13 10 15
-9 -9 -9 -9 -9
J. Q |4 | 12 |7
-9 -9 -9 -9 -9




E. |17 15 10 [
-9 _7 -8 -9




16-9=17

Solve each problem. Circle each problem and answer in the puzzle.
Problems can be hidden across or down. The first one has been done

)

o~
O

—~ o

o = 0

=
o o w

N O v O
w & o

o 0

I1-9 =
I4—7 =
13-8 =
~ N
o
(D
N
7 4 12 3 10
8 6 3 I
|7 18 7 17
5 5 8 9 16
9o 18 5 17 7
6 | 4 3 9
8 4 9 9 0
7 8 2 9 6
3 0 15 8 7
4 16 | 3 Y
3 5 18 9 9
12 5 3 6




Solve each problem. Then, use the color key to color the picture.

( Color Key )

L 2 =red 3 = green 4 = yellow y

(A 12 B. 1| C. 1 )
-8 =7 -8




C.

E.

10




Solve each problem. Circle the largest difference to find which horse
wins the race.




B. 6 10 5 @ 8 12
-5 -8 -2 -3 -6 -4
cC. 9 15 |12 5 Q 15
-1 -7 -5 -5 -2 -6
D. 8 7 |} Q 8 o)
-5 -3 -5 -6 -2 -5
E. 11 |12 |0 8 12 |6
-3 -8 -3 -6 -4 -7
F. 10 4 Q@ 3 6 4
-2 -1 -5 -3 -3 -2
G |l 6 4 10 8 7
-3 -4 -5 -7 -4 -4
H 6 10 5 8 Y 16
-5 -4 -5 -5 -2 -8
I. 12 6 [ 4 |12 6
-4 -3 -5 -2 -9 -5
J. |14 9 |2 4 4 10
-5 -9 -6 | -3 -7







A, | Tl 10 Q 3
+6 +4 ®) -7 +9
B. 7 6 Iy | 7
+6 -3 -7 +95 +3
C. 8 16 2 8 5
-4 -9 +4 -7 +4
D. 5 3 12 8 17
-2 +1 -8 +7 -9
E. 8 Il | 8 7
+4 -8 +4 +6 -2
F. 8 7 10 it 15
+5 +7 -9 +4 -8
G|l Tl 13 5 5
-2 +5 -7 -5 +8
H U K il 10 12
+6 =3 +4 -7 -5
. 9 6 k! 5 10
-8 +2 -9 +1 -7
J. 2 13 5 10 7
+7 -9 +5 -6 +4




A. 7-2= H+7= 13-5= 8+8= Q-7 =

B. D+ 6= I4-9= 3+6= 16 -9 = | +U =

C. 7-3= ?+8= 3+9= I -6= 8+6=

U+4=

o
O~
I
i
I
w
I
]
=
I
O
i
O
+
w
I

7+2= |5—7=

H. 8-3= 7-1=

U+ 8= 11-9 = 5+ | =

L. I0-8 = | +9 = 9+8 8+7= 18 -9 =

Il

J.

0O
+
~
1l
co
I
o
|
~0
|
(9
I

||_8= 7-|-3:




F.

+
N
]
8)]
+

I
N
+




B. 12 3 L 12 7
/

L.




i

}



B, 12 7 2 8 I Iy
=6 +5 4 +9 =2 =6

C. Tl 6 | 6 5 10
+5 -3 +7 -2 +2 =5

D. 8 12 6 I | L
+8 -6 +3 =6 +8 il |

= 10 13 Q 2 7 3
-7 —u +2 +7 1 +7

F. n 5 Il 7 Q 9
+5 =2 -4 +4 =2 +4

G. 8 9 10 Tl 16 2
+5 +3 -9 +2 -7 +2

H, K 7 [ 6 8 o
-6 +4 -4 +6 -2 -

L. 10 5 9 13 3 |
il | +6 +6 -4 +7 -9

J. 2 6 Iy 9 2 10
+3 + 6 -9 + | + | -3




B. 10 5 il 8 i I
-4 =3 +4 +2 +9 =5

C. Q 13 3 5 gl y)
+8 -8 +7 +2 -7 -1

D. 2 12 Q 8 7 6
+8 -5 +9 il § ?) +8

E. 12 13 il 5 10 3
-7 =6 +2 +7 -8 +2

F 5 5 15 | 3 il
+9 -1 -6 +8 +2 +6

G. 3 18 9 Tl 7 7
+5 -9 -9 +7 +3 -3

H. 10 5 5 6 15 3
-6 +5 +8 +3 -6 +8

I, Tl 6 2 12 7 7
+4 +6 +6 =2 =3 =6

J. 2 1l 17 L 8 |
+9 +2 -Q +5 +7 —




